Blindaufgaben

Blatt Nr. 33

Aufgabe 1
Weil3 am Zuge

Weil3: Kb, Tc3, Tc8, Ba3, b2, d7, {3, h2
Schwarz: Kb5, Td8, Tf8, Ba4, f6, g5, h5

Aufgabe 2
Weild am Zuge

Weil3: Kh2, Td4, Lf4, Sa6, Ba5, c2, 2, g2, h3
Schwarz: Ka8, Tb1l, Te2, Sc4, Ba7, c6, f7, g7, h7

Aufgabe 3
Weil3 am Zuge

Weil: Ke3, Lf7, Ba4, b3, f4, g3, h3
Schwarz: Kf5, Sc7, Ba6, b5, 6, h5

Aufgabe 4
Weil3 am Zuge

Weil3: Kgl, Tc8, Se7, Baz, b3, e5, g2, h2
Schwarz: Kg7, Th6, Sb4, Bab, d5, {7, h7

Aufgabe 5
Weil3 am Zuge

Weil3: Kcl, Td6, La7, Sa4, Sb7, Bb2, e4, {2, g2
Schwarz: Ke8, Tc8, La2, Lg7, Se7, Bc6, €5, 16,4b,

Aufgabe 6
Weil3 am Zuge

Stellung nach den Zigen 1.e4 e6 2.d4 d5 3.exd5 €88 Lg4 5.h3 Lh5 6.De2+ De7 7.Le3
Sc6 8.Sbd2 Sf6 9.0-0-0 Sh4 10.a3 Sc6 11.Db5 0-D-8hB Lxf3

Weil3: Kcl, Db5, Td1, Thl, Le3, Lf1, Sb3, Ba3, b2, d4, 2, g2, h3
Schwarz: Kc8, De7, Td8, Th8, Lf8, Lf3, Sc6, Sf6,/Bh7, c7, d5, f7, g7, h7



